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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H (GRS
T HE
= 1 112, 719, 899
TE T
= 1 1, 833, 862
23N
m3 1,700 1, 207, 340
BEIR () B+ 4. omPL k- 1, 700m3
= 1 348, 500
T RO b CasE ERIRY LETe) 1, 700m3
= 1 858, 840
L 1
= 1 77, 400
L FETE (% 1358) T T R oD M B35 K i
m2 200 387 77, 400
P T
= 1 549, 122
FEIA O —=27) 45 50, 000m3 AT
= 1 154, 364
B 75 AFVHE T OB
iy 0 0
ER LS b CEBL ERIRY L& Te)
iy 0 0
T RO +rb CasE ERIRY LETe) 390m3
= 1 134, 784
B 7 AN T oL 390m3
= 1 43, 446
FEIA (V-27) +ip 50, 000m3 AT 390m3
= 1 81, 861
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THEX Sy« T - R - A5 B B B B G = A & # (GRS
ERESTR b CEBL ERIRY L& Te) 390m3
= 1 134, 667
Mgt R T
= 1 3,924, 943
B IR 22 E AL R T
= 1 3,924, 943
TE%E R OWYE - B A 1m32 » fili
& 30kg/m3 —fR#KEs M
m3 742 2,184 1, 620, 528
TE%E R OWYE - B A 1m32 » fil
& 50kg/m3 Higk 1
m3 955 2,413 2,304, 415
RCAG ) T
= 1 98, 807, 398
EE LT
= 1 602, 924
LTI L
= 1 54,071, 495
e BIEAL HifE 1500mm FiE GREHE) 21
m  30-18-40 (& 47)
(FY#h)
VN 0 3, 032, 306 0
e BIEAL HifE 1500mm FiE GREHE) 21
m  30-18-20(25) (&%)
(FY#h)
%N 9 3, 041, 495 27, 373, 455
e BIEAL Fif 1500mm #if GRFE) 23
m  30-18-40 (& 47)
(L)
VN 0 2,977, 621 0
e BIEAL Fif 1500mm #if GRFE) 23
m  30-18-20(25) (&%)
(L)
%N 9 2,901, 868 26,116, 812
FA (V) -1k
m3 43 1, 090 46, 870
PHaukiil )= (R HEEm E D Zb L
m3 43 1, 569 67, 467
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
SISy vy -k (TR
m3 43 4,283 184, 169
PRk AL
m3 11 25,702 282, 722
MR T (R 1 9 HALT)
= 1 44, 132, 979
TG 5mLA b 10moRdi# 300m3 LA _E500m3 A
i 24-12-25(20) (%)
m3 286 30, 368 8, 685, 248
TG 5mLA b 10moRdi# 300m3 LA _E500m3 A
il 24-12-40 (& 4F)
m3 416 30, 131 12, 534, 496
ERAR SD345 D16~25
t 33.59 188, 208 6, 321, 906
ERAR SD345 D29~32
t 40. 7 157, 129 6, 395, 150
ERAR SD345 D35
t 25.12 157, 767 3,963, 107
ERAR SD345 (32 U Eigkfh) D29
t 2. 74 193, 404 529, 926
ERAR SD345 (42 U Eigkfh) D32
t 10. 35 192, 766 1,995, 128
ERAR SD345 (32 U Eigkfh) D35
t 9.97 197, 687 1,970, 939
7 T IRVATE=A
= 1 1,737,079
% T
= 1 8, 153, 696
T E A
= 1 245, 387
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
NN il L
m2 2,270 108. 1 245, 387
JKEE T
= 1 1,017, 186
V7 Pk 0LL 140 (m3/h) A Rk 191
= 1 800, 268
V7 Pk 0LL 140 (m3/h) A {EZEREAK 26 H
= 1 216,918
VESEY- #5 T
= 1 3,617, 161
=1 IERR
iy 0 0
=1 IERR
= 1 436, 805
[ 12 FA)79v477 RC-40
iy 0 0
[ 12 FA)79v477 RC-40
m3 550 2,920 1, 606, 000
Sk 22X 1, 524X 6, 096 (mm) R - =
m2 28 1,937 54, 236
FEHIA (h=27) -+ £50, 000m3 A
= 1 417, 200
ER LS 0 CEBL ERIRY L& Te)
iy 0 0
T RO +rb CasE ERIRY LETe) 2, 000m3
= 1 1,010, 400
IR E
m 8 11, 565 92, 520
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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
R AT
= 1 922, 603
EREREMERE - s
= 1 922, 603
B EE Xt 3R 1.
= 1 1, 062, 530
Z A P 26H
= 1 1, 062, 530
RIEE T
= 1 1, 288, 829
i e kg =
= 1 75,078
T i A
= 1 1,213,751
[EEE AR
= 1 112, 719, 899
B T ¢
= 1 23, 353, 493
BTl TE:
= 1 12, 375, 264
T
= 1 6, 230, 184
T RR A oy AR ST A
= 1 6, 168, 512
AR T 10. 9t
= 1 61,672
el 2
= 1 1, 795, 680
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THEX Sy« T - R - A5 B B B B G = A & 3l R (GBS
RO kL
m3 720 2,494 1, 795, 680
HTE
= 1 3,290, 251
I 0 b H R R LTS
= 1 6, 705
it TR A
= 1 46, 297
B B HE R FEART IR
= 1 53, 591
B R E AR
= 1 565, 639
SR I T - 3R ek it7 4
DYERLE A (1CT)
= 1 2,618,019
BUGERRYCER (K5 1)
= 1 1, 059, 149
MR R (FiE L)
= 1 10, 978, 229
g
= 1 136, 073, 392
B E
= 1 39, 403, 494
B 5]
= 1 175, 476, 886
— R B
= 1 27, 313, 114
T HAlik
= 1 202, 790, 000
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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
THE B 2 %8
= 1 20, 279, 000
THEEE
= 1 223, 069, 000
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